
Complete the gaps with appropriate form of the verbs 

below. 

follow / die / ditch / break / avoid / find (x2) / exhaust / 

rely / fit / load 

On 6 August 2005, a Tuninter ATR 72-210 _________ 

near Palermo after fuel _________ unexpectedly 

___________ en route. The aircraft _________ into 

three sections on impact and 16 of the 39 

occupants________. The Investigation _________ that 

insufficient fuel ____________ prior to flight because the 

flight crew __________ exclusively upon the fuel 

quantity gauges which ____________incorrectly by 

maintenance personnel. It _________ also ________ 

that the pilots __________ fully _________ appropriate 

procedures after the engine run down and that if they 

had, it was at least possible that a ditching 

___________. 

 


